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He is not required to pay him in the presence of 257y

OVERVIEW

The X na stated that the 7awn could not have taught us the 7 that if a m>
admitted to receiving a loan, however if he claims *n¥75 he is J2X31; because
he would be mX1 to say °ny7d not only if he admitted to the loan but even if
there are 2°7v that he borrowed. The reason he is believed is because we
follow the ruling that 2>7v2 15197 ¥"X 0°7¥2 17020 nR M0, There is however
another 7"» who maintains that 2>7v2 w197 7°7% 2°7¥2 120 DR 9n0. Our
moon will discuss how this 7" will explain our wn.

nooIN asks:
- 1Do7y3 19I9Y T99Y AINT JNPY IINN ON)

And if you will ask; according to the one who maintains that he is
required to pay him in the presence of 2°7y -

- 254153 99 131 53191 XINT PPNNINN 1YY SUPN
Our mw» here contradicts his view; for according to him, the 7w» should
have stated the case of ‘I owed you a /1%’; that he is believed to claim >nyas.
However if there were 0>7v that he borrowed a 7 he is not believed to claim *ny-s.
According to this 7" this is indeed the ruling; as opposed to the 7"n of 2>7¥2 W17 X"\,
where he will be believed to claim *ny75 even if there were 0*7¥ for the loan. The fact that
the 7awn did not state this 17 would seem to prove that 2>7v2 w195 ¥"X.

mBDIN answers:
= (2,81 97 MMIY) 3)’)”‘7‘0 MY D992 NN ININT NNNDIT 991D UM

And one can answer that it is not only a dispute among 2°X71R, but rather
it is (also) a dispute even among the 2°X1n in 2°159777 N3W P98, Therefore
we cannot ask a question on the XX who claims 2°7v2 w195 Y, from our mIwn,
because he can answer that even though our 7wn implies that 2°7va w195 %X,

nevertheless there are other 2°Xin who maintain that 2>7va w15% 7%, This X1naR will
follow those o°Xin.

moon offers a different answer:

" There is a dispute among the 2°X7X whether 2792 1379 7% 2°7v2 17°21 DX 917 or not.
% The p"nuw omits the words 722 7 m1m "1N7'.
3 MpoIN seems to be referring to the npY2nn there between 2"2°7 and the 1121
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= N30 1Y 2PUN NIT M) ON
Or you may also say that the 7"» who maintains 2>7v2 w75% 7% does not
consider this a refutation; the fact that the 71wn did not state the case of >7°21 7% mn
does not prove that 2>7y2 1192 ¥"X. It is possible that 2°7¥2 1192 7%, and therefore the
mwn could have indeed stated the case of *7°2 7% 71n. However the 71wn chose not to state
the case of >1°2 7% 1an, but rather the case of 77 AR Hw 7 77w —
= 0P 0932 PPITNN PNRT IIINYNRD 197 RNNT DIVN
Because the 71wn would rather let us know the ruling that one cannot
make a 7117 in the properties of a minor. The xin of the mwn felt (according to
the 0>7¥2 192 7°7% 7"») that it was more important to teach us the 17 of °0312 PP IR PR
0P, than to teach us the 17 that 2°7v2 1Ww15Y 77X 0°7v2 171°2n IR MPn0. Therefore the mawn
states 12 772X W 7 77w which teaches us the 17 of Jup *0312 PPN rx.“ However indeed it
could have taught us the 1>7 of >1°2 7% .

mMooIn has an additional question (even) on the 2>7¥2 1w15% ¥"X 7", The X3 stated that
the mawn could not state the case of >7°2 7% 71, because we could not conclude the X9°0
that if @>7v ¥° he is not 71X1. However moo1n will ask that it is possible to conclude @ oX»
TARIIPR DTV,

= YN NN 99NN ON)

And if you will ask; what did the X713 answer, that it is not possible to state X
TARI IR D7V W0, since D°7Y2 W97 "R 072 17720 DX 71917, nevertheless —
= PANI 13N 231D9) 931D9 393 NIN 2¥999 IN 1D 90N D7y W ON) 2T SNON

The 1w can still teach us the case of >72 7% min and conclude; ‘and if
there are 2°7¥ for the loan who will testify that the m> borrowed and (thats)
the m>n said to the Mm% do not pay me in private, but pay me only in the
presence of those two people who will be the witnesses to the payment, the

M7 will not be believed to claim *ny15. The question is that the 73wn could have (and
should have) stated the case of X1 72 T2 71 with a “oxw 797;% however if the M
stated 11791 °1179 °192 XHX 11N 9K, then the MY is not believed to claim >ny19 without
(those) o7v.

mBoDIN answers:
=919V TPINND DY NN KT 9D UM

And one can answer that the Xin of the 71wn did not want to be excessive
in his language. The xin likes to limit the verbiage in the n1wn, when he has the

* See previous 2,7 X113 (and X317 27 7" N).
> See footnote # 10 (whether there were o>7y that the m17» said 079 °192 X9 13579n 2X).
% See 11 X"wIn.
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choice. Therefore he chose a case where he could be brief rather than choosing a case
where it would require a rather lengthy statement.

mooIn offers an alternate answer to this last question:
INYD NDOWDT NN Nw IN

Or perhaps (the reason the Xin did not use this case is because) the Xin of

the miwn felt that this is too obvious. There is no point in teaching us that if the
97 told him to pay in the presence of 0°7v, the M7 would not be believed to claim >ny-s.
That is so obvious that the 71wn need not teach it to us.

SUMMARY

We can maintain that our 73wn is of the opinion that ¥"X 2°7¥2 17720 DX M1
o°7va w9, and the 7" who maintains 2°7v2 w197 % will follow the
opinion of other 0°%in who also maintain that w195 7°9%. Another option is
that our 73wn can also maintain w157 7% but did not state the case of 77 7
*7°2 because it would rather teach us 9P 0212 7P X,

The 7wn did not want to teach the 17 of ¥7°2 72 712 in a case where there the
mon required that 07y °192 ROR °1w19n 9K, for either it would require a
lengthy statement or that this ruling is too obvious.

THINKING IT OVER
1. Is there any connection (or contradiction!) between the first 2°X17°0 Xwp
of mooIn with the second ®*wp (and °x17°n)?*

2. Mmoo concludes that Xy Xwwo7 XN n Xow.’ Why is it a Xnw; it is
certainly a Xv>wd7 ®n?72! We should have no need for the first y17°n of mooIn
(on the second n"X1)! Or at least this should have been the first y1ont'f

7 See “Thinking it over” # 2.
8 See 17"¥ MR 217 MIdDWAH.

? See footnote # 6.

10 See (also) "™ M n"n a"m.
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